S HBAD
B FBA SAHN YSHLNTIHT/AHEY)

chel: 1CT)| 2 CEERED
SA - ZH . SH(BH) - MEAY - BLS O &t 04 gl C{pmE=Fl

& 9,603,965 9,878,527 A274,562

701,822 701,822 0

1,145,000 1,145,000 0

7,757,143 8,031,705 £274,562

S SHMA FsH(LeE2 9,531,786 9,806,348 A274,562

701,822 701,822 0

1,145,000 1,145,000 0

7,684,964 7,959,526 £274,562

ICTO| & 970,309 931,849 38,460

CIXIEAZAIAE &£ & 146,460 108,000 38,460

403 XA XA SX=01 38,460 0 38,460

02 20| 2SOl CHE = = Ch 3 A b 38,460 0 38,460

oLNEAY s24 38,460 0 38,460

DEZEE £X 485,205 498,500 A13,295

ADEZJEEAHIA SO F 97,205 110,500 A13,295

201 2 EH2EH| 97,205 110,500 A13,295

02 3323l 63,705 77,000 AN13,295

OAOIEZ R AMHIA R EHI 63,705 77,000 A13,295

BYR 27 2,221,191 2,352,694 A131,503

2 296,374 296,374 0

= 1,924,817 2,056,320 A 131,503

HHPDAAY D 442,988 452,491 £9,503

405 Rt Sl 110,497 20,000 £9,503

01 HALSEH S| 110,497 20,000 29,503

OFBAAHA SHWAR N D3t 110,497 120,000 £9,503

ZZ20BE =8 XA 166,000 288,000 A 122,000

201 2 EH2EH| 2,000 4,000 A2,000

01 At 2teltl 2,000 4,000 A2,000

OO ZA 21ag FlotA 0 2,000 A2,000

207 AP Hl 10,000 130,000 120,000

EEEET 0 120,000 120,000

OHUoleHEAd=S S8 WstH 0 120,000 A 120,000

BSA0Ig 2= 3,347,237 3,515,461 A 168,224

N 1,145,000 1,145,000 0

= 2,202,237 2,370,461 168,224

St 22 =8 193,961 213,961 220,000

201 2 EH2EH| 179,961 199,961 220,000

02 3323l 172,961 192,961 /20,000

OSUAE RXE4 172,961 192,961 20,000

07U H2S4 A 152,961 172,961 £20,000




S HBAD

B FBA SAHN YSHLVTIHT/AHEY)

SHol: HBSADIY 1S CEERED
SN - SRABH) - MRAY - BES 0] &k o4 p[E-LD HmE=ET
saea @2l 23 1,400,000 1,500,000 100,000

201 Lur2 | 1,400,000 1,500,000 100,000
2 ZB2H| 1,400,000 1,500,000 100,000
OstR=s &2 =& 1,400,000 1,500,000 100,000

L% UEK2(Switch)&Hl WXl 157,523 200,000 N42 477
405 XHatE S 157,523 200,000 N42, 477
01 MRS S FHSHI 157,523 200,000 N42, 477
OL% WIEAIA(Switch) HHl DA 157,523 200,000 N42,477
SHH MAZI LA 54,253 60,000 A5, 747
405 Rt St 54,253 60,000 ~5,747

= ] 54,253 60,000 N5, 747
OSTPHMAZEXI(UPS, 75KVA) w Al 54,253 60,000 NB, 747




